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tFirst Semeqter)
' i ; , , i  : ^  

' : " :  : r :

cP-103

BUSINESS ENVIRONMENT

Note : Attempt Five questions in all' Q'No' 1 is

1. Write short notes on the following :

(a) SWOT anblYsis' i''

" (b) Key indicaitorU'cif business Ervironment
: - -  :  : ,  '

(c) CounfiY Rists

,, !d) 
IMFi' 

'; 
'

(d Pubi.c,Sectgr Rgfqrtriq ,

. (0 Globaliz4ion ; :t''' '. .:'; ".':' 1 ' ::''''J

(g) Disinvestnent '" 
":'i:"it!i'ri'

^ .  l , : i l r :  '

Tlme: Three Hours

(2Sl) 24113

r ) 1 .

' Maximum Marlcs :70
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2404

M.B.A./P.G. D. B.M. EXAMINATION
: .

(First Semester)

ACCOUNTING FOR MANAGERS.

cp-to+

Time : Three Hours Maximum Marlcs :70

Note : Attempt Five questions in all. e. No. I is
. compulsory. All questions-carryequal marks.

1. Define the following :

(a) Window Dressing

(b). Concept of Conservatism

(c) Tax Accounting

(d) Horizontal Zs. Vbrtical Analysis

(e) Insolvency of a Firm

(0 Margin of Safety

(g) D'fferential Costing. .i

Q-sr) 2404 p.T.o.
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2405

M.B.A./P.G.D.B.M. EXAMINATION

. r , ," (First Semester) 
I

. cP_t0s
'  

' a

GEMENT SCIENCE

Time : Iltree Hours Mqtcimum Marks :70

Note : Aftemp tyive questions in all. e. No. i is
. r compulsory.

1. Write short notes on thd following : 14
/ \(a) Feasible solution
(b) QPM
(c) Slack Variables'
(d) North-West Corner rule
(e) Sadctle point

(D Marimum criterion
(g) Models in management science.

(2-81) 240s P.T:O.
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2406

M.B.A./P.G.D.B.M. EXAMINATION

cP-106

E.COMMERCE

Time : Three Hours Maximum Marks :70

Not€ : Attempt Five questions in ati. Q. No. I is
compulsory. A[ questions carry equal marks.

1. (a) What is a firewall ?
(b) What is a Torjan Horse ?
(c) Explain the role of browser software in

computers
(d) What does shtp stand for ? ,
(e) What is the data transfer speed in a

bro.dband and 3G connections ?
(0 What does URL stand for ?
(g) Differentiate between debit and credit

c ' rds.

(2-80) 2406 P.T.O.
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